Name _______________________________________

Utility Worksheet

1. Utility Chart 

	Utility
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	DVD 1
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	DVD 2
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	DVD 3
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	DVD 4
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	DVD 5
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


a. How does this chart relate to the decision making process of movie fans?
b.   How might retail stores, such as Wal~Mart use this information?

2. Comparing Marginal and Total Utility

	Number of Chocolates/Crackers
	Marginal Utility
	Total Utility

	1
	
	

	2
	
	

	3
	
	

	4
	
	

	5
	
	

	6
	
	


a. What is utility?
b. Why is total utility usually greater than marginal utility?

3. Complete the following table and answer the questions below.

	Units Consumed
	Total Utility
	Marginal Utility

	0
	0
	0

	1
	10
	10

	2
	___
	8

	3
	25
	___

	4
	30
	___

	5
	___
	3

	6
	34
	___


a. At which rate is total utility increasing:  a constant rate, a decreasing rate, or an increasing rate?  How do you know?
b. “A rational consumer will purchase only 1 unit of the product represented by these data, since that amount maximizes marginal utility.”  Do you agree?  Explain why or why not.
c. “It is possible that a rational consumer will not purchase any units of the product represented by these data.”  Do you agree?  Explain why or why not.

4.  The Law of Diminishing Marginal Utility. 

a. Define

b. Draw using a demand curve

5.  Research the Diamond Water paradox.

a. Answer which is a need and a want

b. Answer which typically costs more

c. Explain the costs of each using total utility and marginal utility

6. The following chart shows the total utility MJ receives from consuming chocolate chip cookies.

Number of Cookies Consumed



Total Utility



0






0




1






50




2






90




3






110




4






120




5






100

Which statement is correct about Richard’s marginal utility?

a. His marginal utility from the first cookie is greater than his marginal utility from the second cookie.

b. His marginal utility from the fourth cookie is greater than his marginal utility from the third cookie.

c. His marginal utility increases at a constant rate.

d. He first experiences diminishing marginal utility with the consumption of the fifth cookie.

e. His greatest marginal utility comes from the consumption of the fourth cookie.

Find the marginal utility for each cookie consumed

Graph the marginal and total utility

